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sewhiefl gnfleflwed / Computer Science
S0P wHmID o miEle euyfl / TAMIL & ENGLISH VERSION

Gy : 15 Bhifl_migsir + 2.30 wewf] Qrss wHIeusIssT © 70
Time Allowed: 15 minutes + 2.30 Hours Maximum Marks: 70
oflayenyast . 1) gwesg aleomssepd sflwral udeTsl o drensT  sTETUMS

Flluriggs OCsreremraynd. gFsuudale Gapumiiisr 9ons
ST UUTenL D o 1 eriquirs GgMNaldsseayL.
2) paw  geveg soUy  oowullemer wL@RGWL eSS GID
: 915G Tig (HleusmH @D LI esTL ()5 % G suaist (HIh. LIL_Midh 6T
suenTauSD G ClueTHey LiwissTL®SSH6 1D

Instructions 1) Check the question paper for fairness of printing. If there is

any lack of fairness, inform the hall supervisor immediately.
2) Only blue or black ink must be used to write and underline.
Pencil can be used to draw the diagrams.

L@ — |/ PART - |

eoluy: ()  owarsg alarTsseEnseh alamLwefldEsayib. 15x1=15

Note:

(i) Qasr@ssuul_Rerer wrHm eoflewL gefled Wlasab syhreni_w allenL_enwd

CsiholsHdsis GHUTLGLsr allenL_ulleneruyh CFidggy sTepsayi.
(i)  All questions are compulsory.

(i) Choose the most appropriate answer from the given four alternatives and

write the option code with the corresponding answer.

B\ wHlliysener peTHTSS LilenenTdgieneusse) 6TeiLIG).

() Pair (<) Triplet (@) single (=) quadrat
Bundling two values together into one can be considered as
(A) Pair (B) Triplet (C) single (D) quadrat

£ Car@ssiu_Hsrer Gurells @ulepewmulled, wry! ‘A sr suswrGlwsvemey

a) Disp(): b) a:=7 c) print a d) Disp()
(o) 2_sreTemnio (o) pepseralw
(@) oywLsasiiuc L () o_srefllemenths
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The kind of scope of the variable ‘a’ used in the pseudo code given below
a) Disp(): b) a:=7 c) printa d) Disp()
(A) Local (B) Global (C) Enclosed (D) Built-in

3. Quflw Guar (Big Q) — 6t semevd)

(1) Quiflu g (Big O) (=) Guiflus £ (Big ©)
(@) Quiflw o (Big A) (/) GQufluw stev (Big S)

Big Q is the reverse of ~
(A) BigO (B) Big © (C)Big A (D) Big S

4. euSSTeT CHriyseafler B g

(o) Pyt (=) -txt (@) -Pdm () Py
Extension of Python files is
(A) .Pyt (B) .txt (C) .Pdm (D) .Py

5. foriin range(10, 0, 2)
print(i)
eT6iTm Biyedlesr Gleuafuf®
(91)1086420 (o)108642 (@)0246810 (w) Jewyp
The output of the Segment
for i in range (10, 0, 2)
print(i)
is
(A)1086420 (B)108642 (C)0246810 (D) Error

6. bin() Qewpenmy G @mHlene sriisener sths wpeiTGlerT B 6T &) LiLiD

(o) 0 (=) 1 (@) Ob () 1b
The bin( ) function returns a binary string prefixed with:
(A)O (B) 1 (C)0b (D) 1b

7. Str1="COMPUTER' ersitm sr5860, ‘P’ eréirm o_mytiiflsir Gmiwenn whHmid
sTgliwenm &L Gl_ewr wHliLser

(=) 3, -4 (<) 4, -4 (@) 3, -5 () 4, -5
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The positive and negative index values of ‘P’ in the string Stri="COMPUTER'’ are
(A) 3, -4 (B) 4, -4 (C)3,-5 (D)4, -5

8. Fp&ETEmId Ths sSawT QFweuT®, @ran®h SHTRISEREGSL GuTgiaiTeT
2 _MIIE6T FRISTS DN DTHS] & MILILBHTUD 2 6aTerL_Saluig?
(1) swssrrar Gaupur® (=) Cauprur®
(@) Q@ (%) Geririoy
Which of the following set operation includes all the elements that arg'in two sets

but not the one that are common to two sets?

(A) Symmetric difference (B) Difference
(C) Intersection (D) Union
9. Qri e Hy&EETeme WerelerTi L e G&reawL wry)
() private (=) public (@) protected (=) static

A variable prefixed with double underscore is
(A) private (B) public . (C) protected (D) static

10.  IBM plmisuargsrev o heurdasiiul L sreay wrgif

(o) vy Blemsv (=) 2-mayBlensy (@) suswevwemworny () ER
The data model developed by IBM is
(A) Hierarchical (B) Relational (C) Network (D) ER

1. 26 srassambos 5HGUTEH Gukigb Srayssemors wrhnis SQL & _ever

(<) CURRENT (=) USE (3)) DATABASE () NEW
The SQL command to make a database as current active database is
(A) CURRENT (B) USE (C) DATABASE (D) NEW

12.  CRLF ersiruigsir aflflaurdsio

() Control Return and Line Feed () Carriage Return and Form Feed
(@) Control Router and Line Feed (=) Carriage Return and Line Feed

The expansion of CRLF is
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(A) Control Return and Line Feed (B) Carriage Return and Form Feed
(C) Control Router and Line Feed (D) Carriage Return and Line Feed

13. if_name__=='"_main__"

main(sys.argv[1:]) sresrugesr Qewmhem n1 eipliys s Hmi
() main(sys.argv[1:]) (<=4) _name__
(®) __main__ (/) argv
The function call statement of the segment.

if _name__ =='__main

main(sys.argv[1:])

is
(A) main(sys.argv|1:]) (B) _name__
(C) _main__ (D) argv

14. SQLsbr giememrBlensy o Hmi D|VVTHGI

(91) GROUP BY (<) ORDER BY (@) HAVING (=) CONDITION
Which is not a SQL clause?
(A) GROUP BY (B) ORDER BY (C) HAVING (D) CONDITION

15, Matplotlib-sv i swi eflerssit L Semg auewrw LWSTURSSOILGD CFwhHem DI

(=) pit.bar() (=) plt.chart( ) (®) pip.bar() (=) pip.chart( )
To make a bar chart with Matplotlib, which function should be used?
(A) plt.bar() (B) plt.chart( ) (B) pip.bar( ) (D) pip.chart( )
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u@g — 1/ PART - II

TGaemn ny aleTTEsEndE aflwL wellssan. Heunls ellart erer 2155
s L rwiors ellen_wefl&sHe) L. 6x2=12

Answer any six questions. Question No. 21 is compulsory.

16. Namespaces sTaTpTeD sT6iTeRT ?

What do you mean by Namespaces?

17. GoL 6 eTHTDTED GTETSIT? BHEHT UNSBEET WITe6?

What is searching? Write its types.

18. Gewpen wppibd QewCpHLl YHwaiHedD aIHTLINISHS.
Define Operator and Operand.

19.  eussTefs o srar L &GseMeT aiensEseT Wrane?

What are the types of looping supported by Python?

20. ewussrer &7 QEwHUTBSRE, +=6T L6 sTeiTerr?

What is the use of the operator += in Python string operation?

21.  Qar@asiu’_Rsrer gPluypempuilsr Qarehuf® sreirer?
alpha=list(range(65,70))
for x in alpha:
print(chr(x), end="\t")
What will be the output of the following shippet?
alpha=list(range(65,70))
for x in alpha:
print(chr(x), end="\t'")
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22.  SQLsv WHERE gienemtilensy g mflesr Liwieit sTeirssr?
What is the use of WHERE clause in SQL?

23.  ewussrefle Gariy Qewhur’ B ugBlenaser wreneu?

What are the steps involved in file operation of Python?

24. Qsreguursr whpib afQwry wrpdlaw Camu@ssis.
Distinguish compiler and interpreter. f

L@@ ~ N/ PART — 1l

TCsamIb Y allearTsseEnsE allowL weldseayn. eupnrfle aflerr st 294 @
sLLTwors aillen_wefldsseay. 6x3=18

Answer any six questions. Question No. 29 is compulsory.

25.  Strlen Qewpeng 6T @ ST QFWDHEn D) ST SPWEHILHEADE?
Why strien is called pure function?

26.  plreb eugeuemw iy eThg whE LGTUESSLILGEDS? YbS WhHepw
Qe rmy.

Which strategy is used for program designing? Define the strategy.

27.  abs 5550 smpyy (Jump statement) @)L flriflwirs vwsTu@EDES? aer?
Which jump statement is used as placeholder? Why?

28. @m Oowpsmm ooTUDEGD Gury saeTsHd s TesirerGeuersrigus

&(HSSI(HHSET WTeney?

What are the points to be noted while defining a function?

Page 6 of 9



29.

30.

31.

32.
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Qar@ésiiul Garer angaibems AFHPUSHETET PLSSTET HITD ETEHD 6TPSIS.
Write a Python program to display the given pattern

COMPUTER

COMPUTE

COMPUT

COMPU

COMP

COM

co

c

Neraumid Bredsir Qeusfluf® srsiram?
What is the output of the following program?
class Greeting:
def __init__(self, name):

self.__name = nhame

def display(self):

print("Good Morning ", self.__name)

obj=Greeting('Tamil Nadu')
obj.display()

srit_eafwer QUBSSMO @@ THSSISSTL_ LT allerdds.
Explain Cartesian product with a suitable example.

AmiaPiy susnrs: (o) fetchall() (<) fetchone( ) (@) fetchmany
Write a short note on (i) fetchall( ) (ii) fetchone( ) (iii) fetchmany

LNGSTOUHLD UM TLIL_$6MS UMTUSDBTET 9LIGHST 63T BIFe) RETENM TIPS

Write a Python code to display the following chart.
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ug# — IV / PART - IV

merd Sl allesTTassEmsEHn aflenL wefldaab. 5x5=25

Answer all the questions.

34.  9)0sred Hlreorsssdar TCSID MBI LIWTEMET sTLSIS.
a) Write any five benefits in using modular programming.
(oysvsvg / OF)
9,) ewuggresflssr input() woHmio print() QFwmhem nisener
T(HBSISSTL_(HL_6T allemd @ as.
b) Explain input() and print() functions of Python with example.

35. o) wugsrefler for w_sestt upy allfaurs oy stupsis.
a) Write a detail note on for loop in Python.
v (o606 / Or)
) wUSSTeTlsL 2_sirar LGB! suHHIWTEAT QFWHIn MISeDET
sTHSSIEHTL_BL_6T aflend @ s.
b) Explain the different types of functions in Python with example.

36. &) wuggreler find( ) Qewpam Heom TESSHIESTL HIsT aflems @,
a) Explain about the find( ) function in Python with example.
(sjsvsvg1 / or) _
) wugsreflsst remove( ), pop( ) wpmib clear( ) QewpHen pisener ulHs.

Page 8 of 9



QB365 https://www.qb365.in/materials/

b) Compare remove( ), pop( ) and clear( ) function in Python.

37. ) sreyssar Guevrsrenw Hewwiiflsr (DBMS) o_mitiysemer aflendg@s.
a) Explain the components of DBMS.
(ysvevgy / or)
=) SQLsit 2 myliyssir wremen? yeuaymILIySefleiT &L HISHEDET 6T(SIS.

b) What are the components of SQL? Write the commands in each.

38. ) 2 mayFlewe Qunsanils CFwn@ylsafiley &L amid @&wb@;ﬂ‘lamm BH&HS
TH55155TLBL 6T allersd @ s
1) Union. (U) 2) Intersection (N)
a) Explain the following operators in Relational Algebra with suitable example
1) Union. (U) 2) Intersection (N)
(y6vevgy / Or)
) OsTHEsUULHsTen BIraissTeT 516y STLFALUBSH06T suenTuL_Send
UM T .

b) Draw the output for the following data visualization plot.
import matplotlib.pyplot as plt
plt.bar([2,4,6,8,10],(5,2,7,8,2], label="Example one")
plt.bar([1,3,5,7,9],[8,6,2,5,6], label="Example two", color='g")
plt.legend()
plt.xlabel('bar number’)
plt.ylabel('bar height')
plt.title('Epic Graph\nAnother Line')
plt.show()

dededd
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